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QR (¥, +4c.-Y,)
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= kﬁ X kﬁ =A
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X=X X=X
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=
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k? k
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a2 b2
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- A
X, Yo
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a%k?® b®

= (Xo - Xl)(xo - XZ) + (yo - yl)(yo - yz) =0
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V2 (g +m)? (y°_r%)2 %2
a’ a’

b P

1 e + I 1 =0
a2 b2 a2k2 b2
- a’y,” —a®(kx, +m)? . b?(y, —m)? —b’a’x,” _ 0
b2 _a2k2 b2 _a2k2

= a’y,” — (k¢ +m)2]+b2[(y, —-m)? —k?x,’] =0

= a’(y, — kg, —m)(y, + ke, +m) +b?(y, —m—kx, )(y, —m+kx,) =0

.'. P(Xo’yo) y: kX+m
y,—kx,-m=0

= a’(y, + kx, + m) +b*(y, —m+kx,) =0

= (a® +b?)y, = k(-a® —b*)x, + (-a® +b*)m

a® +b? a® +b?
T et
y =kx+m
S a®+b’ a® +b?
QR (az_bz 01 2_b2 yo)
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X2 y2
7t P(%, Yo) QX Y1) R(X,Y,)

= Kpg xKpg =4

o Oe=y) (Vo= VYe) _
(X% =%) (% =X)

= A%, = X)X = %) = (Yo = Y)Y, — ¥,) =0

QR y=kx+m

14



y= az bz =1
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a? b?
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X Yo _4
a’? b?
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b? b?
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a? b?
X
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(yo - yl)(yo - y2) = 1 1
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v (o +m? ) ES
b? b? B a’ a® _
=4 L 1 1 =0
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b® —a’k? b® —a’k?
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= Aa*(y, — k,x—m)(y, + k,x+m) —b?(y, —m—k x)(y, —m+k,x) =0

P, Y) QR
oY, —k, —-m=0
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